\$850.00

\$850.00

-2

\$1,700.00

(\$1,700.00)



### **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Pay Estimate Created Date: February 17, 2021

-			• •										
Progre	ess Estimate	Number	Contract ID Prime Contr		0816-Bo	01 nstruction Compar			Start July 16 End Februa		Original Control 21 Net Change Or Current Control	der Amount	(\$28,129.10)
Approv	/al Date												By User
February	17, 2021				Gene	rated and Approve	ed (and	should l	oe considered	Draft) a	t the Project Office L	evel by	fox
February	17, 2021			Re	viewed	and Approved (ar	nd shoเ	ıld be co	nsidered Draft	) at the	Resident Engineer L	evel by	domza
February	18, 2021					Review	ed and	Approve	ed at the Centr	al Office	Controllers Office L	evel by	greggd
Origi	inal Comple	tion Date	Curre	nt Compl	etion E	Date Ac	tual Co	mpletio	n Date	%	of Current Contra	ct Amount C	omplete
[	December 1,	2020	De	ecember 1	1, 2020		June	26, 202	0		100.	00%	
		Contra	act Information	al Dates				Mil	estones				
	Description	Origin	al Completion	Date Cu	rrent C	Completion Date	No M	lilestone	s Exist for Con	tract			
	nce Date												
Awarded	d Date	Septer	nber 5, 2019	Se	ptembe	r 5, 2019							
Letting D	Date	Augus	t 16, 2019	Au	gust 16	, 2019							
Notice to	Proceed Da		16, 2020	Ma	rch 16,	2020							
Open to	Traffic Date	June 2	6, 2020	Jur	ne 26, 2	2020							
Work Be	egan Date	March	23, 2020	Ma	rch 23,	2020							
Contract	: Total Pay F	or Estimat	e No. 10										
190816-B				Т	his Esti	mate		Pr	evious		To Date	9	
Contract	Total Payal	Other Co	tive ed Damage ontract Adjustme	\$ ents (\$	0.00 0.00 0.00 6484.50 <b>7,265</b>	<b>'</b>		\$0 \$0 (\$	0.00 0.00 0.00 891.04) 8 <mark>84,561.11</mark>		\$0.00 \$0.00 \$0.00 (\$1,375 \$791,82		
	d This Estim				,								
Project	Number	Line Numb	er Item Code		Ito	m Description		Unit	Unit Price	Curr	ent Installed Qty	Current Inst	alled Amount
J2P3085		0290	8059901			IG - COOL SEAS	ON	LS	\$4,300.000	Ouri	1	Odiron inst	\$4,300.00
	J2P3085 - T		0000001	WIIOO.C	JEEDII	(O - OOOL OL) (O	011	LO	ψ+,000.000		,		\$4,300.00
Overall		otai											\$4,300.00
	Adjustments	This Feti	mato										Ψ4,300.00
onti det 7		TING ESTI						_			D 1		
0.7	Adj Type		Entered E	•	_	Comments		I	ime Units		Rate	Ai	mount
OI	ГНROther ( Adji	ustment		foxd	cos testii the c	his adjustment is f t of base rock grading that was not do contractor. This at reflects the priotractor would have the testing lab for the	dation one by mount ce the e paid						(\$484.50
Overall -	Total	Thesa	marinto !!t	ad in the	In a cost	ve Dielesseth	Lieuri	leted D	manaa Ctl	- C-	tue et A divetue en t		(\$484.5
ine Item	Adjustment			ed in the	ıncenti	ve, Disincentive,	Liquid	iated Da	mages or Oth	ier Con	tract Adjustments		
Project Number	Line No.		scription	Adjustr Typ		Other Item Adjustment		(	Comments		Adjustment Quantity	Line Item Adjustment	Adjustment amount
				71		Туре					,	Unit Price	
J2P3085	0040		COMPACTING EMBANKMENT	Material	Credit	t					230	\$7.20	\$1,656.00
	0040		COMPACTING EMBANKMENT	Ma	aterial	rial					-230	\$7.20	(\$1,656.00
													4

Revision 4/1/2020 Page 1 of 13

SUBGRADE COMPACTION MaterialCredit

Material

(6-INCH DEPTH)

(6-INCH DEPTH)

SUBGRADE COMPACTION

0050

0050



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: February 17, 2021

Progre		imate Number 0	Contract ID Prime Contra	190816-B <b>actor</b> Bleigh Co		pany Pay Period End February 15, 2021 No	riginal Contra et Change Ord urrent Contra	t (\$28,129.10)	
oject mber	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
P3085	0060		REGATE FOR (4 IN. THICK)	MaterialCredit			56.7	\$17.00	\$963.9
	0060	TYPE 1 AGGI BASE	REGATE FOR (4 IN. THICK)	Material			-56.7	\$17.00	(\$963.9
	0070		MISC.	MaterialCredit			8	\$70.00	\$560.0
	0070		MISC.	Material			-8	\$70.00	(\$560.0
	0800	GRAVEL (A) C STONE (B)	OR CRUSHED OR CHAT (C)	MaterialCredit			7	\$75.00	\$525.0
	0800	GRAVEL (A) C STONE (B)	OR CRUSHED OR CHAT (C)	Material			-7	\$75.00	(\$525.0
	0090	TYPE A	3 SHOULDER	MaterialCredit			56.7	\$19.50	\$1,105.6
	0090	TYPE A	3 SHOULDER	Material			-56.7	\$19.50	(\$1,105.65
	0100		S PAVEMENT G64-22, (BP-1)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',500.00000 - 500.00000, 'is applied (if non-zero).	6.9	\$500.00	\$3,450.00
	0220	THEF PAVEMENT M	PREFORMED RMOPLASTIC IARKING, R/R ING MARKER	MaterialCredit			1	\$1,400.00	\$1,400.00
	0220	THEF PAVEMENT M	PREFORMED RMOPLASTIC IARKING, R/R ING MARKER	Other Item Adjustment	Material Discrepancy Payment Adjustment				(\$1,400.00
	0230	WATERBORNE	E STANDARD E PAVEMENT AINT, TYPE P BEADS	MaterialCredit			745	\$2.00	\$1,490.00
	0230	WATERBORNE	E STANDARD E PAVEMENT AINT, TYPE P BEADS	Other Item Adjustment	Material Discrepancy Payment Adjustment				(\$1,490.0
	0240	WATERBORNE	V STANDARD E PAVEMENT AINT, TYPE P BEADS	MaterialCredit			113	\$2.00	\$226.0
	0240	4 IN. YELLOV WATERBORNI MARKING PA		Other Item Adjustment					(\$226.00
	0290		MISC.	Material			-1	\$4,300.00	(\$4,300.00
	0290		MISC.	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$4,300.00
	0450	SAFETY BA	RRIER CURB	MaterialCredit			301	\$89.00	\$26,789.00
	0450	SAFETY BA	RRIER CURB	Other Item Adjustment	Material Discrepancy Payment Adjustment				(\$26,789.00
	0460		N CONCRETE ACENT BEAM	MaterialCredit			480	\$235.00	\$112,800.00
	0460		N CONCRETE ACENT BEAM	Other Item Adjustment	Material Discrepancy Payment Adjustment				(\$112,800.00

Revision 4/1/2020 Page 2 of 13



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Informat	ion									
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work										
J2P3085	FAS S201(26)	Bridge replacement	79	LINCOLN	0.1 Mile South of Route N	l near Winfield										
Totals by J	Job Numb	ers														
J2P3085		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$4,300.00 \$3,450.00 \$7,750.00	Previous \$788,902.15 (\$3,450.00) \$785,452.15	To Date \$793,202.15 \$0.00 \$793,202.15									
	Liqui	itive centive dated Damage Contract Adju		i	\$0.00 \$0.00 \$0.00 (\$484.50)	\$0.00 \$0.00 \$0.00 (\$891.04)	\$0.00 \$0.00 \$0.00 (\$1,375.54)									

Revision 4/1/2020 Page 3 of 13



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 2036000, Project Item Line Number 0040, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 2101006A, Project Item Line Number 0050, Material Set 2101006A96, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3040143, Project Item Line Number 0060, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3049910, Project Item Line Number 0070, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3107002, Project Item Line Number 0080, Material Set 310700296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4010151, Project Item Line Number 0090, Material Set 401015196, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 8059901, Project Item Line Number 0290, Material Set 805990196, Material 0806EKBL - Erosion Control Blanket, Acceptance Action generic 0806EKBL is insufficient.	No Remark was entered by Engineer	foxd	Acknowledged

Revision 4/1/2020 Page 4 of 13



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT			Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)		
0816-B01	J2P3085	0001	0010	2019901	MISC.CLEARING AND GRUBBING	1.00	0.00	1.00	LS	1.00	\$4,500.00	\$4,500.
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,800.00	\$6,800.
		0001	0030	2031000	CLASS A EXCAVATION	726.00	0.00	726.00	CUYD	726.00	\$16.60	\$12,051.
		0001	0040	2036000	COMPACTING EMBANKMENT	230.00	0.00	230.00	CUYD	230.00	\$7.20	\$1,656.
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	2.00	0.00	2.00	100F	2.00	\$850.00	\$1,700.
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	56.70	0.00	56.70	SQYD	56.70	\$17.00	\$963.
		0001	0070	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	8.00	0.00	8.00	TONS	8.00	\$70.00	\$560.
		0001	0080	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	7.00	0.00	7.00	TONS	7.00	\$75.00	\$525.
		0001	0090	4010151	TYPE A3 SHOULDER	56.70	0.00	56.70	SQYD	56.70	\$19.50	\$1,105
		0001	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	40.90	6.90	47.80	TONS	47.80	\$500.00	\$23,900
		0001	0110	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	79.40	-79.40	0.00	TONS	0.00	\$375.00	\$0
		0001	0120	4071005	TACK COAT	118.20	0.00	118.20	GAL	118.20	\$13.00	\$1,536
		0001	0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	868.00	-15.00	853.00	CUYD	853.00	\$30.00	\$25,590
		0001	0140	6113040	PLACING TYPE 2 ROCK BLANKET	868.00	-15.00	853.00	CUYD	853.00	\$17.00	\$14,501
		0001	0150	6161005	CONSTRUCTION SIGNS	1,058.00	0.00	1,058.00	SQFT	1,058.00	\$7.00	\$7,406
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$40.00	\$160
		0001	0170	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$23.00	\$46
		0001	0180	6161010	RELOCATED SIGNS	64.00	0.00	64.00	SQFT	64.00	\$6.00	\$384
		0001	0190	6161030	TYPE III MOVEABLE BARRICADE	13.00	0.00	13.00	EA	13.00	\$144.00	\$1,87
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,400.00	\$6,800
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$64,500.00	\$64,50
		0001	0220	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	1.00	0.00	1.00	EA	1.00	\$1,400.00	\$1,40
		0001	0230	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	745.00	0.00	745.00	LF	745.00	\$2.00	\$1,49
		0001	0240	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	203.00	-90.00	113.00	LF	113.00	\$2.00	\$22
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	456.00	0.00	456.00	SQYD	456.00	\$10.30	\$4,6
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	726.00	-462.00	264.00	SQYD	264.00	\$10.30	\$2,7
		0001	0270	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,303.00	-22.00	1,281.00	SQYD	1,281.00	\$2.20	\$2,8
		0001	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,700.00	\$3,70
		0001	0290	8059901	MISC.SEEDING - COOL SEASON	1.00	0.00	1.00	LS	1.00	\$4,300.00	\$4,30
		0001	0300	8061005	ROCK DITCH CHECK	14.00	0.00	14.00	LF	14.00	\$34.00	\$47
		0001	0310	8061016	SEDIMENT REMOVAL	5.00	-5.00	0.00	CUYD	0.00	\$53.00	;
		0001	0320	8061019	SILT FENCE	397.00	-247.00	150.00	LF	150.00	\$6.30	\$94
		0001	0330	8061050	TYPE C BERM	483.00	-483.00	0.00	LF	0.00	\$23.00	\$
		0001	0340	8069901	MISC.TEMPORARY SEEDING AND MULCHING	1.00	-1.00	0.00	LS	0.00	\$2,000.00	
		0010	0350	6061060	MGS GUARDRAIL	25.00	0.00	25.00	LF	25.00	\$46.00	\$1,15
		0010	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULARINO CURB)	2.00	0.00	2.00	EA	2.00	\$3,700.00	\$7,40
		0010	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,00
		0040	0380	9039902	MISC.PERMANENT SIGN RELOCATION	2.00	0.00	2.00	EA	2.00	\$290.00	\$58
		0070	0390	2061000	CLASS 1 EXCAVATION	100.00	0.00	100.00	CUYD	100.00	\$31.00	\$3,10
		0070	0400	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS		\$27,900.00	\$27,90
		0070	0410	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	146.00	0.00	146.00	SQYD	146.00	\$158.00	\$23,06
		0070	0420	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	1,102.00	-17.00	1,085.00	LF	1,085.00	\$63.00	\$68,35
		0070	0430	7027000	PILE POINT REINFORCEMENT	22.00	0.00	22.00	EA	22.00	\$110.00	\$2,42
		0070										<del>+-,</del>

Revision 4/1/2020 Page 5 of 13



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
190816-B01	J2P3085	0070	0450	7034215	SAFETY BARRIER CURB	301.00	0.00	301.00	LF	301.00	\$89.00	\$26,789.00		
		0070	0460	7034226	SLAB ON CONCRETE ADJACENT BEAM	480.00	0.00	480.00	SQYD	480.00	\$235.00	\$112,800.00		
		0070	0470	7056061	22 IN., PRESTRESSED CONCRETE DOUBLE-TEE GIRDER	IN., PRESTRESSED CONCRETE DOUBLE-TEE GIRDER 650.00 0.00 650.00 LF 650.00 \$325.00								
		0070	0480	7061060	REINFORCING STEEL (BRIDGES)	4,440.00	0.00	4,440.00	LB	4,440.00	\$1.38	\$6,127.20		
		0070	0490	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$476.00	\$9,520.00		
		0070	0500	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00		
		0070	0510	7161000	PLAIN NEOPRENE BEARING PAD	20.00	0.00	20.00	EA	20.00	\$90.00	\$1,800.00		
		0070	0520	7161002	LAMINATED NEOPRENE BEARING PAD	40.00	0.00	40.00	EA	40.00	\$105.00	\$4,200.00		
		0001	5001	8061006	ALTERNATE DITCH CHECK	0.00	105.00	105.00	LF	105.00	\$6.30	\$661.50		
		0001	5002	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	0.00	65.90	65.90	TONS	65.90	\$325.00	\$21,417.50		
		0001	5003	4039902	MISC.SAVINGS FROM ELIMINATION OF SEC 403 MIXTURE	0.00	1.00	1.00	EA	1.00	(\$2,190.00)	(\$2,190.00)		
	Project J	2P3085 - To	tal Value	Posted to D	Date as of Report Generated Date							\$793,202.15		
190816-B01 Ove	rall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$793,202,15		

Revision 4/1/2020 Page 6 of 13



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J2P3085

Line Number	Item Code	Description		DWR Approval Date		Units	Location	From Station/ Log Mile	Offset/ Distance	Offset/ Distance	Comments
0290	8059901	MISC. SEEDING	2/15/21	2/17/21	1.00	LS	All disturbed areas around the bridge	.1			

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 7 of 13



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0040	COMPACTING EMBANKMENT	Material		8	Jul 1, 2020	SYSTEM	(\$1,656.00)	
				9	Jul 16, 2020	SYSTEM	(\$1,656.00)	
				10	Feb 17, 2021	SYSTEM	(\$1,656.00)	
			- Total				(\$4,968.00)	
	Material - Total						(\$4,968.00)	
	COMPACTING EMBANKMENT	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$1,656.00	
				10	Feb 17, 2021	SYSTEM	\$1,656.00	
			- Total				\$3,312.00	
	MaterialCredit - Total						\$3,312.00	
	COMPACTING EMBANKMENT	Other Item Adjustment	MDPA		Jul 1, 2020	foxd	\$1,656.00	
			MDPA - Tot	al			\$1,656.00	
	Other Item Adjustment - Total						\$1,656.00	
	- Total						\$0.00	
0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Material		8	Jul 1, 2020	SYSTEM	(\$1,700.00)	
				9	Jul 16, 2020	SYSTEM	(\$1,700.00)	
				10	Feb 17, 2021	SYSTEM	(\$1,700.00)	
			- Total				(\$5,100.00)	
	Material - Total						(\$5,100.00)	
	SUBGRADE COMPACTION (6-INCH DEPTH)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$1,700.00	
				10	Feb 17, 2021	SYSTEM	\$1,700.00	
			- Total				\$3,400.00	
	MaterialCredit - Total						\$3,400.00	
	SUBGRADE COMPACTION (6-INCH DEPTH)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,700.00	
			MDPA - Tot	al			\$1,700.00	
	Other Item Adjustment - Total						\$1,700.00	
	- Total						\$0.00	
0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		8	Jul 1, 2020	SYSTEM	(\$963.90)	
				9	Jul 16, 2020	SYSTEM	(\$963.90)	
				10	Feb 17, 2021	SYSTEM	(\$963.90)	
			- Total				(\$2,891.70)	
	Material - Total						(\$2,891.70)	
	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$963.90	
				10	Feb 17, 2021	SYSTEM	\$963.90	
			- Total				\$1,927.80	
	MaterialCredit - Total						\$1,927.80	
	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$963.90	
			MDPA - Tot	al			\$963.90	
	Other Item Adjustment - Total						\$963.90	
	- Total						\$0.00	
0070	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Material		8	Jul 1, 2020	SYSTEM	(\$560.00)	

Revision 4/1/2020 Page 8 of 13



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
	·	Туре	Adjustment Type	Number	Date	Ву		
0070	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Material		9	Jul 16, 2020	SYSTEM	(\$560.00)	
				10	Feb 17, 2021	SYSTEM	(\$560.00)	
			- Total				(\$1,680.00)	
	Material - Total						(\$1,680.00)	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$560.00	
				10	Feb 17, 2021	SYSTEM	\$560.00	
			- Total				\$1,120.00	
	MaterialCredit - Total						\$1,120.00	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$560.00	
			MDPA - Tot	al			\$560.00	
	Other Item Adjustment - Total						\$560.00	
0070 -	Total						\$0.00	
0080	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material		8	Jul 1, 2020	SYSTEM	(\$525.00)	
				9	Jul 16, 2020	SYSTEM	(\$525.00)	
				10	Feb 17, 2021	SYSTEM	(\$525.00)	
			- Total				(\$1,575.00)	
	Material - Total						(\$1,575.00)	
	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$525.00	
				10	Feb 17, 2021	SYSTEM	\$525.00	
			- Total				\$1,050.00	
	MaterialCredit - Total						\$1,050.00	
	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)		MDPA	8	Jul 1, 2020	foxd	\$525.00	
			MDPA - Tot	al			\$525.00	
	Other Item Adjustment - Total						\$525.00	
0080 -	Total						\$0.00	
0090	TYPE A3 SHOULDER	Material		8	Jul 1, 2020	SYSTEM	(\$1,105.65)	
				9	Jul 16, 2020	SYSTEM	(\$1,105.65)	
				10	Feb 17, 2021	SYSTEM	(\$1,105.65)	
			- Total				(\$3,316.95)	
	Material - Total						(\$3,316.95)	
	TYPE A3 SHOULDER	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$1,105.65	
				10	Feb 17, 2021	SYSTEM	\$1,105.65	
			- Total				\$2,211.30	
	MaterialCredit - Total						\$2,211.30	
	TYPE A3 SHOULDER	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,105.65	
			MDPA - Tot	al			\$1,105.65	
	Other Item Adjustment - Total						\$1,105.65	
0090 -	Total						\$0.00	
0100	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun	Overrun	8	Jul 1, 2020	SYSTEM	(\$3,450.00)	
				10	Feb 17, 2021	SYSTEM	\$3,450.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',500.00000 - 500.00000, 'is applied (if non-zero).

Revision 4/1/2020 Page 9 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0100		Overrun	Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0100 -	Total						\$0.00	
0120	TACK COAT	Material		8	Jul 1, 2020	SYSTEM	(\$1,536.60)	
			- Total				(\$1,536.60)	
	Material - Total						(\$1,536.60)	
	TACK COAT	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$1,536.60	
			- Total				\$1,536.60	
	MaterialCredit - Total						\$1,536.60	
	TACK COAT	Other Item Adjustment	MDPA		Jul 1, 2020	foxd	\$1,536.60	
				9	Jul 16, 2020	foxd	(\$1,536.60)	
			MDPA - Tota	al ————			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0120 -							\$0.00	
0220	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material		8	Jul 1, 2020	SYSTEM	(\$1,400.00)	
				9	Jul 16, 2020	SYSTEM	(\$1,400.00)	
			- Total				(\$2,800.00)	
	Material - Total						(\$2,800.00)	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$1,400.00	
			Total	10	Feb 17, 2021	SYSTEM	\$1,400.00	
	Material One dit. Total		- Total				\$2,800.00	
	MaterialCredit - Total	011 11	MDDA	0	1.14		\$2,800.00	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Other Item Adjustment	MDPA		Jul 1, 2020	foxd	\$1,400.00	
			MDPA - Tota	10	Feb 17, 2021	foxd	(\$1,400.00) \$0.00	
	Other Item Adjustment - Total		WIDFA - TOU	a1			\$0.00	
0220 -	·						\$0.00	
0230	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	Material		9	Jul 16, 2020	SYSTEM	(\$1,490.00)	
	MARKING PAINT, TYPE P BEADS		- Total				(\$1,490.00)	
	Material - Total		Total				(\$1,490.00)	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	MaterialCredit		10	Feb 17, 2021	SYSTEM	\$1,490.00	
	MARKING PAINT, TYPE P BEADS		- Total				\$1,490.00	
	MaterialCredit - Total						\$1,490.00	
	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	Other Item Adjustment	MDPA	9	Jul 16, 2020	foxd	\$1,490.00	
	MARKING PAINT, TYPE P BEADS			10	Feb 17, 2021	foxd	(\$1,490.00)	
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0230 -	Total						\$0.00	
0240	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		9	Jul 16, 2020	SYSTEM	(\$226.00)	
	,		- Total				(\$226.00)	
	Material - Total						(\$226.00)	
	Material - Total						(ψ226.00)	

Revision 4/1/2020 Page 10 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0240	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit		10	Feb 17, 2021	SYSTEM	\$226.00	
			- Total				\$226.00	
	MaterialCredit - Total						\$226.00	
	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	MDPA	9	Jul 16, 2020	foxd	\$226.00	
				10	Feb 17, 2021	foxd	(\$226.00)	
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0240 -							\$0.00	
0290	MISC. SEEDING - COOL SEASON	Material		10	Feb 17, 2021	SYSTEM	(\$4,300.00)	
			- Total				(\$4,300.00)	
	Material - Total	- ·		10	=		(\$4,300.00)	
	MISC. SEEDING - COOL SEASON	Other Item Adjustment	MDPA		Feb 17, 2021	foxd	\$4,300.00	
			MDPA - Tota	al			\$4,300.00	
	Other Item Adjustment - Total						\$4,300.00	
0290 -						211-	\$0.00	
0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		8	Jul 1, 2020	SYSTEM	(\$7,400.00)	
			- Total				(\$7,400.00)	
	Material - Total						(\$7,400.00)	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$7,400.00	
			- Total				\$7,400.00	
	MaterialCredit - Total						\$7,400.00	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$7,400.00	
	(,			9	Jul 16, 2020	foxd	(\$7,400.00)	
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0360 -	Total						\$0.00	
0370	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		8	Jul 1, 2020	SYSTEM	(\$7,000.00)	
			- Total				(\$7,000.00)	
	Material - Total						(\$7,000.00)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$7,000.00	
			- Total				\$7,000.00	
	MaterialCredit - Total						\$7,000.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Other Item Adjustment	MDPA		Jul 1, 2020	foxd	\$7,000.00	
				9	Jul 16, 2020	foxd	(\$7,000.00)	
			MDPA - Tota	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0370 -							\$0.00	
0410	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		8	Jul 1, 2020	SYSTEM	(\$23,068.00)	
			- Total				(\$23,068.00)	
	Material - Total						(\$23,068.00)	
	BRIDGE APPROACH SLAB (MINOR ROAD)	MaterialCredit		9	Jul 16, 2020	SYSTEM	\$23,068.00	

Revision 4/1/2020 Page 11 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0410		MaterialCredit	- Total				\$23,068.00	
	MaterialCredit - Total						\$23,068.00	
	BRIDGE APPROACH SLAB (MINOR ROAD)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$23,068.00	
				9	Jul 16, 2020	foxd	(\$23,068.00)	
			MDPA - Tot	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0410 -	Total						\$0.00	
0420	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Construction Stockpile		1	Jan 6, 2020	SYSTEM	\$27,775.25	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 17, 2020	SYSTEM	(\$27,775.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0420 -	Total						\$0.00	
0430	PILE POINT REINFORCEMENT	Construction Stockpile		1	Jan 6, 2020	SYSTEM	\$2,090.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Apr 2, 2020	SYSTEM	(\$2,090.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0430 -	Total						\$0.00	
0440	CLASS B CONCRETE (SUBSTRUCTURE)	Material		4	May 4, 2020	SYSTEM	(\$57,525.00)	
			- Total				(\$57,525.00)	
	Material - Total						(\$57,525.00)	
	CLASS B CONCRETE (SUBSTRUCTURE)	MaterialCredit		5	May 18, 2020	SYSTEM	\$57,525.00	
			- Total				\$57,525.00	
	MaterialCredit - Total						\$57,525.00	
	CLASS B CONCRETE (SUBSTRUCTURE)	Other Item Adjustment	MDPA	4	May 4, 2020	foxd	\$57,525.00	
				5	May 18, 2020	foxd	(\$57,525.00)	
			MDPA - Tot	al			\$0.00	
	Other Item Adjustment - Total						\$0.00	
0440 -	Total						\$0.00	
0450	SAFETY BARRIER CURB	Material		7	Jun 16, 2020	SYSTEM	(\$26,789.00)	
				8	Jul 1, 2020	SYSTEM	(\$26,789.00)	
				9	Jul 16, 2020	SYSTEM	(\$26,789.00)	
			- Total				(\$80,367.00)	
	Material - Total					2772	(\$80,367.00)	
	SAFETY BARRIER CURB	MaterialCredit		8	Jul 1, 2020	SYSTEM	\$26,789.00	
				9	Jul 16, 2020	SYSTEM	\$26,789.00	
			Total	10	Feb 17, 2021	SYSTEM	\$26,789.00	
			- Total				\$80,367.00	
	MaterialCredit - Total						\$80,367.00	
	SAFETY BARRIER CURB	Other Item Adjustment	MDPA		Jun 16, 2020	foxd	\$26,789.00	
				10	Feb 17, 2021	foxd	(\$26,789.00)	
			MDPA - Tot	аГ			\$0.00	

Revision 4/1/2020 Page 12 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0450	Other Item Adjustment - Total						\$0.00	
0450 -	Total						\$0.00	
0460	SLAB ON CONCRETE ADJACENT BEAM	Material		6	Jun 2, 2020	SYSTEM	(\$67,680.00)	
				7	Jun 16, 2020	SYSTEM	(\$112,800.00)	
				8	Jul 1, 2020	SYSTEM	(\$112,800.00)	
				9	Jul 16, 2020	SYSTEM	(\$112,800.00)	
		- Total				(\$406,080.00)		
	Material - Total					(\$406,080.00)		
	SLAB ON CONCRETE ADJACENT BEAM	MaterialCredit		7	Jun 16, 2020	SYSTEM	\$67,680.00	
				8	Jul 1, 2020	SYSTEM	\$112,800.00	
				9	Jul 16, 2020	SYSTEM	\$112,800.00	
				10	Feb 17, 2021	SYSTEM	\$112,800.00	
	- Total						\$406,080.00	
	MaterialCredit - Total						\$406,080.00	
	SLAB ON CONCRETE ADJACENT BEAM	Other Item Adjustment	MDPA		Jun 2, 2020	foxd	\$67,680.00	
				7	Jun 16, 2020	foxd	\$112,800.00	
				7	Jun 16, 2020	foxd	(\$67,680.00)	
				10	Feb 17, 2021	foxd	(\$112,800.00)	
	MDPA - Total						\$0.00	
0.400	Other Item Adjustment - Total  0460 - Total						\$0.00	
0460 -	22 IN., PRESTRESSED CONCRETE DOUBLE-TEE GIRDER	Construction Stockpile		3	Apr 17, 2020	SYSTEM	\$0.00 \$151,493.94	Payment Estimate Item Adjustment generated Stockpile Transaction
	BOOBLE-TEE OINDER	Otookpiic		5	May 18, 2020	SYSTEM	(\$151,493.94)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0470 - Total						\$0.00		
5001	ALTERNATE DITCH CHECK	Material		4	May 4, 2020	SYSTEM	(\$661.50)	
			- Total				(\$661.50)	
	Material - Total						(\$661.50)	
	ALTERNATE DITCH CHECK	MaterialCredit		5	May 18, 2020	SYSTEM	\$661.50	
			- Total				\$661.50	
	MaterialCredit - Total						\$661.50	
	ALTERNATE DITCH CHECK	Other Item Adjustment	MDPA	4	May 4, 2020	foxd	\$661.50	
				5	May 18, 2020	foxd	(\$661.50)	
	MDPA - Total						\$0.00	
	Other Item Adjustment - Total	her Item Adjustment - Total					\$0.00	
5001 - Total							\$0.00	
Overall - Total							\$0.00	

Revision 4/1/2020 Page 13 of 13